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Answer key for social science paper ii 

gFjp V 
r%f mwptpay;; 

91. Gj;jh; Nghjpj;j mdhj;khthjh vd;gjpd; nghUs; 
    a. Mj;kh Kbtw;Wj   b. Mj;kh vd;gJ ,y;iy 
    c. Mj;kh ,Uf;fpd;wJ  d. Mj;khit fhz KbahJ 
    Buddha preached ‘Anatmavada’ which means 
    a. atma is eternal   b. there is no atma 
    c. there is atma   d. atma cannot be seen 

92. bnuz;l; fTd;rpypd; Nehf;fk; (1545 – 1563) 
    a. rpiwf; ifjpfspd; epiyia rPhgLj;Jjy;; 
    b. flw; gpuahzj;jpd; epiyikapidr; rPhgLj;Jjy;; 
    c. gs;spfisr; rPhgLj;Jjy;; 
    d. fj;Njhypf;f jpUr;rigiar; rPhgLj;Jjy;.j;; 
    The Council of Trent (1545 – 1563) aimed at 
    a. reforming the conditions of the prisoners 
    b. reforming the conditions of the sea voyage 
    c. reforming the schools 
    d. reforming the Catholic Church 
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93. FLkpahd; kiyapYs;s gy;yth;fs; fy;ntl;Lfs; Fwpf;Fk; rpwe;j ,irahsh; 
    a. Uj;uhr;rhhpahh;  b. eurpk;kth;kd; 
    c. ,uhkhD[h;d. rk;k tp~;Z 
    The Pallava inscription Kudumianmalia refers to a great musician 
    a. Rudracharya  b. Narashimhavarman 
    c. Ramanuja   d. Simha Vishnu 

94. gl;bay; AI gl;bay B cld; nghUj;jp> fPNo nfhLf;fg;gl;Ls;s FwpaPLfisf; 
    nfhz;L rhpahd tpiliaj; Njh;enjL:; 
            gl;bay; A   gl;bay; B 
    a. ghh;jjNyhkpah la];;   1. ,e;jpahtpd; Kjy; Nghh;rRf;frpa mur gpujpepjp;P 
    b. gh];Nfhl fhkh    2. ,e;jpahtpd; ,uz;lhk; Nghh;r;RfPrpa mur 
                                          gpujpepjp 
    c. gpuhd;rp]; b my;nka;lh   3. njd; Mg;gphpf;fhtpd; njd; Kidia 
                                          mile;jth; 
    d. my;Nghd;Nrh b my;Gfh;f;  4. Kjd;Kjyhf fly; topahf ,e;jpahit 
                                          mile;jth; 
            A B C D 
    a.  1 4 2 3  
    b.  1 3 4 2 
    c.  3 4 1 2 
    d.  3 1 4 2 
    Match the List A with List B and choose the correct answer from the codes 
given below: 
                  List A   List B 
    a. Bartholomew Diaz  1. first Portuguese Viceroy in Inida 
    b. Vasco da Gama   2. second Protuguese Viceroy in India 
    c. Francis de Almeida  3. first to reach sourthernmost tip of Africa 
    d. Alfonso de Albuquerque  4. first to reach India by sea rorte. 
    Codes: 
             A B C D 
    a.  1 4 2 3 
    b.  1 3 4 2 
    c.  3 4 1 2 
    d.  3 1 4 2 

95. nty;y];yp gpuGtpd; Jizg;gilj; jpl;lj;ij Vw;Wf; nfhs;shj kd;dh; 
    a. i`juhghj; ep]hk;  b. gP~th ,uz;lhk; gh[puht ;; 
    c. mNahj;jp ethg;   d. jpg;G Ry;jhd;. 
    Which one of the following did not enter the Subsidiary Alliance with   
    Lord Wellesley? 
    a. Nizam of Hyderabad  b. Peshwa Baji Rao II 
    c. Nawab of Oudh   d. Tipu Sultan 
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96. gpd;tUgth;fspy; gf;jp ,af;fj;jpy; Nruhj eguhf fUjg;gLgth;? 
    a. kPuh gha; b. `rd; fq;fh c. fgPh;  d. FUehdf; 
    The person who does not belong to Bhakti Movement is 
    a. Mira Bai b. Hasan Ganga c. Kabir d. Guru Nanak 

97. tuyhw;Wf;F Ke;ija fhyj;jpd; fhyfpuk thpir 
              I. nrk;G fw;fhyk; 
              II. gioa fw;fhyk; 
              III. ,Uk;G fw;fhyk; 
              IV. Gjpa fw;fhyk; 
    a. I, II, III, IV  b. II, IV, I, III 
    c. II, IV, III, I  d. I, III, II, IV 
    The chronological order of the pre-historic period is 
              I. Chalcolithic Age 
              II. Paleolithic Age 
              III. Iron Age 
              IV. Neolithic Age 
    a. I, II, III, IV  b. II, IV, I, III 
    c. II, IV, III, I  d. I, III, II, IV 

98. ,tw;wpy; ve;j thf;fpak; cz;ikahdJ? 
    a. rpe;Jntsp kf;fs; MAjq;fs; nra;a ,Uk;ig gad;gLj;jpdh; 
    b. rpe;Jntsp kf;fs; efu jpl;lkpLjiyg; gw;wp mwpahjpUe;jdh; 
    c. rpe;Jntsp kf;fspd; vOj;J VLfs; mopatpy;iy. 
    d. nkhfQ;rjhNuh vd;gjd; nghUs; gs;spf;$lk; 
    Which of the following statements is true? 
    a. The people of Indus used iron to prepare weapons. 
    b. The people of Indus lacked town planning 
    c. The script of Indus civilization has not disappeared 
    d. Mohenjodaro means the school 

99. gpe;ija Ntjfhyj;jpy; mlq;fpAs;sit 
    a. rhkNtjk;> a[_h; Ntjk;> hpf; Ntjk; 
    b. mjh;tz Ntjk;> a[_h; Ntjk;> hpf; Ntjk; 
    c. a[_h; Ntjk;> hpf; Ntjk;> rhk Ntjk; 
    d. rhk Ntjk;> mjh;tz Ntjk;> a[_h; Ntjk ; 
    The later Vedic period consists of 
    a. Sama Veda, Yajur Veda, Rig Veda 
    b. Atharva Veda, Yajur Veda, Rig Veda 
    c. Yajur Veda, Rig Veda, Sama Veda 
    d. Sama Veda, Atharva Veda, Yajur Veda 
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100.         nkshpag; Nguurpd; Ml;rpahshpd; fhy Kiw thpir: 
a. re;jpuFg;j → nkshpah; → mNrhfh; → gpe;Jrhuh; 
b. mNrhfh; → re;jpuFg;j nkshpah; → gpe;Jrhuh; 
c. re;jpuFg;j → nkshpah; → gpe;Jrhuh; → mNrhfh;rhuh ;. 
d. gpe;Jrhuh; → mNrhfh; → re;jpuFg;j nkshpah; 
The chronological order of the rulers of Mauryan empire is 
a. Chandragupta Maurya → Ashoka → Bindusara 
b. Ashoka → Chandragupta Maurya → Bindusara 
c. Chandragupta Maurya → Bindusara → Ashoka 
d. Bindusara → Ashoka → Chandragupta Maurya. 

       ciwgdp fhyepiy vd;gJ 
a. ghiwfs; RUq;fp tphptiljy; MFk; 
b. ghiwfs; Fsph;rrp milAk; fhyepiy; 
c. ciwjyhy; ghiwfs; J}shtjhFk;. ciwjyhy; 
d. cg;G ePuhy; ghiwfs; J}shtjhFk; 
Frost weathering means 
a. the Expansion and shrinking of rocks 
b. the cold weather of the rocks 
c. the breaking of the rocks due to freezing 
d. the disintegration of rocks due to saline solutions 

       ,tw;wpy; xd;W nly;lh mikg;G ,y;iy. mJ vJ? 
a. gwit ghj nly;lh  b. tprpwp tbt nly;lh 
c. $hpa cUt nly;lh  d. fly; rhh;ej nly;lh; 
______ is not a type of delta. 
a. Bird foot delta   b. Arcuate delta 
c. Cuspate delta   d. Marine delta 

       fhw;wpYs;s thAf;fspd; rhpahd msTfspy; ,tw;wpy; vit xd;W 
rhpahdit? 
a. iel;u[d; - 21% Mf;]p[d; - 78% kw;w thAf;fs; - 1% 
b. iel;u[d; - 1% Mf;]p[d; - 78% kw;w thAf;fs; - 21% 
c. iel;u[d; - 78% Mf;]p[d; - 21% kw;w thAf;fs; - 1%. 
d. iel;u[d; - 78% Mf;]p[d; - 1% kw;w thAf;fs; - 21% 
Which one of the following is the correct combination of the components of 
air? 
a. Nitrogen – 21%, Oxygen – 78%, Other gases – 1% 
b. Nitrogen – 1%, Oxygen – 78%, Other gases – 21% 
c. Nitrogen – 78%, Oxygen – 21%, Other gases – 1% 
d. Nitrogen – 78%, Oxygen – 1%, Other gases – 21% 

101. 

102. 

103. 
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104.         gl;bay; AI gl;bay; B cld; nghUj;jp> fPNo nfhLf;fg;gl;Ls;s 
FwpaPLfisf; nfhz;L rhpahd tpiliaj; Njh;enjL.; 
        gl;bay; A   gl;bay; B 
        (tiffs;)   (njhopy;fs;) 
a. Kjy; epiyj; njhopy;   1. fw;gpj;jy; 
b. ,uz;lhk; epiyj; njhopy;  2. tq;fpj; njhopy; 
c. %d;whk; epiyj; njhopy;  3. kPd; gpbj;jy; 
d. ehd;fhk; epiyj; njhopy; 4. fUk;gpypUe;J rh;ffiuiag;    
                              pugphpj;njLj;jy;; 
FwpaPLfs;: 
        A B C D 
a.   3 2 4 1 
b.   3 4 2 1 
c.   4 3 1 2 
d.   4 1 2 3 
Match the types from List A with their occupations from List B: 
               List A   List B 
              (Types)    (Occupations) 
a.   Primary     1. teaching 
b.   Secondary     2. banking 
c.   Tertiary     3. fishing 
d.    Quaternary    4. extracting sugar from sugarcane 
Codes: 
         A B C D 
a.   3 2 4 1 
b.   3 4 2 1 
c.   4 3 1 2 
d.   4 1 2 3 

                    
fPoffz;l fhyepiy kw;Wk; kioasT cs;s ,lq;fspy; gUj;jp ed;whf;; 
tpisAk; 
a. 30˚C – 40˚C, 100 nr.kP – 150 nr.kP 
b. 20˚C – 30˚C, 200 nr.kP – 250 nr.kP 
b. 10˚C – 20˚C, 50 nr.kP – 100 nr.kP 
d. 20˚C – 30˚C, 50 nr.kP – 100 nr.kP 
Cotton grows well in areas where the temperature and rainfall are between 
a. 30˚C – 40˚C, 100cm – 150 cm 
b. 20˚C – 30˚C, 200cm – 250cm 
c. 10˚C – 20˚C, 50cm – 100cm 
d. 20˚C – 30˚C, 50cm – 100cm 

105. 
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106.       nfhLf;fg;gl;Ls;s ngah;fis (A) gl;lq;fSld; (B) nghUj;Jf. 
             gl;bay; A  gl;bay; B 
             (ngah;)    (gl;lk;) 
      a. yhyh y[gjp uha;  1. Nejh[p 
      b. Rgh~; re;jpuNgh];  2. ngUe;jiyth; 
      c. rh;jhh; ty;ygha; gNly; 3. gQ;rhgpd; rpq;fk; 
      d. F. fhkuh[;;   4. ,e;jpahtpd; gp];khh;f; 
FwpaPLfs;: 
        A B C D 
a.  4 3 1 2 
b.  3 1 4 2 
c.  3 4 1 2 
d.  1 4 3 2 
Match the name from List A with their titles from List B: 
             List A      List B 
            (Name)      (Title) 
       a. Lala Lajpat Rai     1. Netaji 
      b. Subhas Chandra Bose   2. Perum Thalaivar 
      c. Sardhar Vallabhbhai Patel 3. Lion of Punjab 
      d. K. Kamarajar   4. Bismarck of India 
Codes: 
        A B C D 
a.  4 3 1 2 
b.  3 1 4 2 
c.  3 4 1 2 
d.  1 4 3 2 

       Kjy; cyfg;NghUf;Fg; gpd;G n[h;kdpAld; ifnaOj;jplg;gl;l mikg;gpd; 
cld;gbf;if vd;gJ 
a. bhpaNdhd; cld;gbf;if b. epAsp cld;gbf;if 
c. nrt;u]; cld;gbf;if  d. nth;nray;]; cld;gbf;if. 
The Peace Treaty signed with Germany after the First World War was 
a. Treaty of Trianon  b. Treaty of Neuilly 
c. Treaty of Severes  d. Treaty of Versailles 

       [g;ghd; mnkhpf;f fg;gy; gilj;jskhd ngh;y; `hh;giu (Kj;J JiwKfk;) 
jhf;fpa jpdk; 
a. brk;gh; 7> 1941  b. brk;gh; 8> 1941 
c. brk;gh; 6> 1941  d. brk;gh; 18> 1941 
Japanese attacked American fleet at Pearl Harbour on 
a. December 7th, 1941  b. December 8th , 1941 
c. December 6th, 1941  d. December 18th, 1941 

107. 

108. 
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109.    Kjy; ,e;jpa Rje;jpug; Nghhpd; Njhy;tpf;fhd Kf;fpa fhuzk; 
a. nghJthd fUj;J Gul;rpahshplk; ,y;iy 
b. Gul;rpahsh;fsplk; etPd MAjq;fs; ,y;iy 
c. ,e;jpah;fspilNa fhzg;gl;l xw;Wikapd;ik 
d. midj;J Ml;rpahsh;fSk; fyfj;jpy; Nrutpy;iy 
The main cause for the failure of First War of Indian 
Independence is 
a. the revolutionaries had no common idea 
b. the revolutionaries did not possess modern weapons 
c. disunity among the Indians 
d. all the rulers did not join the revolt. 

    Nkw;fj;jpa kUj;Jtj;jpd; je;ij vd miof;fg;gLgth; 
a. lhskp   b. gpbah]; 
c. `pg;Nghfpuhl;];  d. N`unuhll]; 
The father of Western medicine is 
a. Ptolemy  b. Phidias c. Hippocrates  d. Herodotus 

        fpU~;z Njtuhauhy; kJiu mur gpujpepjpahf tp];tehj ehaf;fh; 
epakpf;fg;ll tUlk;; 
a. 1527  b. 1528  c. 1529  d. 1530 
Krishnadevaraya appointed Viswanatha Nayak as the Viceroy of Madurai in 
the year 
a. 1527  b. 1528  c. 1529  d. 1530 
  1806y; NtY}h; fyfj;jpw;fhd cldbf; fhuzk; 
a. Gjpa MAjq;fis mwpKfg;gLj;jy; 
b. Gjpa jiyg;ghif mwpKfg;gLj;jy; 
c. fl;Lg;ghlhd xOf;fk; filg;gpbj;jy; 
d. Mguzq;fs; mzpa jil nra;jy; 
The immediate cause that led to the Vellore mutiny of 1806 by the Indian 
Sepoys was 
a. introduction of new weapons b. introduction of new turban 
c. introduction of strict discipline d. prohibition of wearing ornaments 

    ghjhkp rhSf;fpa Ml;rpahsh;fspy; kpfr; rpwe;jth; 
a. n[arpk;kd;  b. Kjyhk; GypNfrp 
c. ,uz;lhk; GypNfrp d. ,uz;lhk; tpf;fpukhjpj;jd;. 
The greatest ruler of Chalukyas of Badami was 
a. Jayasimha  b. Pulakeshi I 
c. Pulakeshi II  d. Vikramaditya II 

       Kjyhk; kNfe;jputh;kdhy; 
a. kj;jtpyhr gpufldk ; 
c. mte;jp Re;jhp fjrhuh 
Mahendravarman I wrote 
a. Mattavilasa Prahasana 
c. Avanti Sundari Kathasara 

vOjg;gl;l E}y; 
b. fphpjhh; [_dpak; 
d. ghuj ntz;gh 
b. Kiratarjuniyam 
d. Bharatavenba 

110. 

111. 

112. 

113. 

114. 
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115.         fPNo Fwpg;gpl;Ls;sitfspy; Kfk;kJ gpd; Jf;sf; Nkw;nfhs;shj 
elbtbf;if vJ? 
a. jiyefiu nly;ypapypUe;J Njtfphpf;F khw;wpaJ 
b. nrk;G ehzaq;fis ntspapl;lJ 
c. Njh Mg; kPJ thptpjpj;jy; 
d. G+hp n[fehjh; Myaj;ij ifg;gw;Wjy; 
Which of the following was not undertaken by Mohammed – bin-
Tughluq? 
a. Transferred the Capital from Delhi to Devagiri 
b. Introduced Copper currency system 
c. Raised taxes in Doab region 
d. Captured Jagannatha temple at Puri 

      epytpd; kWgf;fj;ij 1959Mk; Mz;L glk; gpbj;j nraw;ifNfhs; 
a. Y}dhh; 3  b. ];Gl;dpf;  c. ,d;rhl; 2  d. Mh;agl;lh. 
The other side of the moon was photographed by ______ satellite in the year 
1959. 
a. Lunar 3  b. Sputnik  c. INSAT 2  d. Aryabhatta 

,tw;wpy; vJ rhpahd tpil vd vOjTk;? 
a. jPgfw;gk; vd;gJ %d;W gf;fk; ePh; #o;ej gFjpahFk;.; 
b. ,uz;L nghpa ePhgFjpfis ,izf;Fk; Neuhd ePsghij;; 
c. FWfpa topapd; %ykhf fly;eh; cs;Ns tUtJ tphpFlh MFkMFk;.P 
d. tphpFlhit tpl nghpjhf ,Ug;gJ tisFlh 
Which one of the following statements is correct? 
a. Peninsula is a water body surrounding by land on its 3 sides 
b. A strait is a narrow stretch of water which connects two large water 
bodies 
c. A bay is an inlet of the sea with a narrow opening 
d. A gulf is wider then the bay. 

116. 

117. 

118. ,uhN[e;jpud; nrd;idapypUe;J GtNd];th;f;F Gwg;glg; Nghfpd;whh;. mth; 
    gad;gLj;j Ntz;ba epytiug;glk; ________ 
    a. ,aw;ifaikg;G tiuglk;   b. nghUs; rhh;ej tiuglk;; 
   c. murpayikg;G tiuglk;tiuglk  d. ,it %d;Wk; 
    Rajendran is scheduled to leave Chennai and reach Bhubaneswar. He has to    
   use the ______ map. 
   a. Physical  b. thematic  c. political   d. all the three 

119. 0˚jPhffNuif fphPdtpr; nkhpbad; vd;W miof;fg;gLfpwJ. Vnddpy;;; ; 
a. 180˚ ml;rNuif nul;tpr; nkhpbad; vd miof;fg;gLfpwJ 
b. 180˚ fpof;Fk; 180˚ Nkw;Fk; xNu Gs;spapy; re;jpf;fpd;wd. 
c. ,e;j jPhffNuif ,yz;ldpYs;s kf;fshy; fz;Lgpbf;fg;gl;lJ;; 
d. ,yz;ldpYs;s fphpd;tpr; vd;w ,lj;jpy; tpz;ntsp Muha;rrp epiyak; xd;W; 
   cs;sJ. 
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The 0˚ longitude is also called as Greenwich Meridian because 
a. the 180˚ longitude is called Redwich meridian 
b. both 180˚ east and 180˚ west meet at a single point 
c. this longitude was found by the people of London 
d. a space observatory is located at Greenwich in London. 

120. ,j;jhypapYs;s tpRtpa]; vd;w vhpkiyf;F vLj;Jf;fhl;L 
a. cwq;Fk; vhpkiy   b. ,aq;Fk; vhpkiy. 
c. Mope;JNghd vhpkiy  d. ,tw;wpy; vJTkpy;iy 
Vesuvius of Italy is an example for _____ volcano. 
a. dormant  b. active  c. extinct  d. none of these 

,e;jpa $l;lhl;rpapd; njhFg;G vd;gJ ______ khepyq;fs; kw;Wk; _____A+dpad; 
gpuNjrq;fisf; nfhz;lJ 
a. 28, 7  b. 29,7  c. 27, 8  d. 28, 8 
The Indian Union comprises ____ states and ____ union territories. 
a. 28, 7  b. 29,7  c. 27, 8  d. 28, 8 

 ,e;jpa murpay; mikg;gpy; ______ gFjpfs; _____ ruj;Jfs; _______ 
gl;bay;fs; cs;sd. 
a. XXII, 449, 14   b. XXII, 501, 13 
c. XXII, 449, 12   d. XXII, 448, 12 
The Constitution of India contains _______ Parts, ______ Articles, and ____ 
Schedules. 
a. XXII, 449, 14   b. XXII, 501, 13 
c. XXII, 449, 12   d. XXII, 448, 12 

mnkhpf;fh vjw;F cjhuzkhf fUjg;gLfpwJ? 
a. xU fl;rp Kiw    b. ,uz;L fl;rp Kiw 
c. gy fl;rp Kiw    d. xU fl;rpAk; ,y;yhj Kiw 
USA is an example for 
a. Single party system  b. dual party system 
c. multi – party system  d. no party system 

 gd;dhl;L ePjpkd;wk; mike;Js;s ,lk; 
a. epA+ahh;f;   b. rhd; gpuhd;rp];Nfh 
c. th~pq;ld;  d. jp N`f;. 
The International Court of Justice is situated in 
a. New York   b. San Francisco 
c. Washington  d. The Hague 

fUk;gyif jpl;lk; ahuhy; mwpKfg;gLj;jg;gl;lJ? 
a. Njrpaf; fy;tpf; nfhs;if> 1986 b. midtUf;Fk; fy;tpj;jpl;lk; 2002. 
c. fy;tpf; nfhs;if 1968   d. Njrpaf; fy;tpf; nfhs;if 1991 

121. 

122. 

123. 

124. 

125. 
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The ‘Operation Blackboard’ was introduced in 
a. NEP 1986   b. SSA 2002 
c. Education Policy 1968  d. NEP 1991 

126.  jyh tUkhdk; Fwpg;gJ 
a. xU ehl;by; trpf;Fk; kf;fspd; tho;fif epiyiaf; Fwpg;gJ; 
b. xU ehl;by; cs;s gzf;fhuh;fspd; tho;f;ifj;juk; 
c. xU ehl;by; Vo;ikapy; cs;s kf;fspd; tho;fif epiy; 
d. ehl;by; cs;s kf;fspd; tho;fifj;juk;spd;; 
The per capita income shows the 
a. living conditions of the people in a country 
b. living standards of the rich in a country 
c. living conditions of the poor in a country 
d. living standards of the people in a country 

ICAR ,d; tphpthf;fk; vd;d? 
a. Ntshz; gFjpf;fhd ,e;jpa FO 
b. Ntshz; Muha;rrpf;fhd ,e;jpa FOkkFOkk;; 
c. Ntshz; Muha;rrpf;fhd ,e;jpa FO; 
d. Ntshz; gFjpf;fhd ,e;jpa FOkk; 
What is the full from of ICAR? 
a. Indian Committee for Agricultural Regions 
b. Indian Council for Agricultural Research 
c. Indian Committee for Agricultural Research 
d. Indian Council for Agricultural Regions 

127. 

128.   ‘mspg;G tpjp’ vd;gJ ve;j ,uz;bw;fhd Neubj; njhlh;ig tpsf;Fk;? 
     a. gz;lj;jpw;fhd tpiyAk; mspg;gpd; mstpw;Fk;’ 
     b. gz;lj;jpw;fhd tpiyAk; mjd; juj;ijAk; 
     c. tpiyapy; Vw;gLk; Vw;wk; kw;Wk; gz;lj;jpw;fhd juk; 
     d. tpiyapwf;fKk; gz;lj;jpw;fhd juKk; 
     ‘Law of Supply’ states that there is a direct relationship between the 
     a. price of the commodity and the quantity supplied 
     b. price of the commodity and the quality of the commodity 
     c. rise in price and quality of the commodity 
     d. fall in price and quality of the commodity 
 
129.tpiyahdJ rkepiy tpiyia tpl mjpfkhfNth my;yJ FiwthfNth 
     ,Uf;fk;NghJ> rkepiy tpiyia mila NjitAk; mspg;Gk; nray;Ghpfpd;wd ,J 
     _____ vd miof;fg;gLk;. 
     a. tpiy rkepiy   b. mspg;G rkepiy 
     c. mq;fhb rkepiy  d. Njit rkepiy 
     Demand and supply react to bring the price to equilibrium level, if the price 
is 
     above or below the equilibrium price. This is called 
     a. price equilibrium  b. supply equilibrium 
     c. market equilibrium  d. demand equilibrium 
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130.  ,e;jpa &ghapd; jdpg;gl;l rpd;dkhdJ ,jd; ,uz;bd; njhFg;Gfs; MFk;. 
a. Njtehfhp ‘Ra’ kw;Wk; Mq;fpy vOj;jpd; ‘R’ 
b. Njtehfhp ‘Ra’ kw;Wk; Nuhk vOj;jpd; ‘R’ 
c. ,e;jp vOj;jpy; ‘Ra’ kw;Wk; Nuhk vOj;jpd; ‘R’ 
d. ,e;jp vOj;jpy; ‘Ra’ kw;Wk; Mq;fpy vOj;jpd; ‘R’. 
The unique Indian Rupee symbols is a blend of 
a. Devanagari ‘Ra’ and English ‘R’  b. Devanagari ‘Ra’ and Roman ‘R’ 
c. Hindi ‘Ra’ and Roman ‘R’   d. Hindi ‘Ra’ and English ‘R’ 
 ,izg;G ngl;b njhopw;rhiy> nrd;id lhlh ,Uk;G v/F njhopw;rhiy> 
[hk;n~l;G+h;> v/F njhopw;rhiy> Nryk;> Mfpatw;wpw;F vLj;Jf;fhl;L 
a. mjpf msT cw;gj;jp njhopw;rhiy 
b. rpwpa msT cw;gj;jp njhopw;rhiy 
c. eLj;jpu cw;gj;jp njhopw;rhiy 
d. Fbirj; njhopy; 
The Integral Coach Factory, Chennai, Tata Iron and Steel, Jamshedpur, Salem 
Steel are examples of 
a. large scale industry   b. small scale industry 
c. medium scale industry  d. cottage industry 

 kf;fs; njhif mlh;jjpapy; Kd;dzpapy; cs;s ehL; 
a. ,e;jpah  b. rPdh  c. gq;fshNj~; d. ghfp];jd; 
The country which excels in density of population is 
a. India  b. China c. Bangladesh  d. Pakistan 

 jkpo;ehL khepyk; ,e;j ml;rNuiff;F ,ilNa mike;jpUf;fpd;wJ 
a. 18˚ 05’ ypUe;J 23˚ 09’ tlf;F   b. 8 05 ypUe;J 13 09 tlf;F13˚ 09’. 8˚ 05’ 
c 8˚ 05’ ypUe;J 23˚ 09’ tlf;F   d. 13˚ 09’ ypUe;J 23˚ 09’ tlf;F 
The Tamil Nadu State is located between the latitudes 
a. 18˚ 05’ to 23˚ 09’ North b. 8˚ 05’ to 13˚ 09’ North 
c. 8˚ 05’ to 23˚ 09’ North  d. 13˚ 09’ to 23˚ 09’ North 

jkpo;ehl;by; Kjy; mZ kpd;epiyak; mike;Js;s ,lk; 
a. $lq;Fsk; b. fy;ghf;fk;  c. Muy;tha;nkhop  d. jpz;Lf;fy; 
The first Atomic Power Station of Tamil Nadu is located at 
a. Kudankulam b. Kalpakkam c. Aralvaimozhi d. Dindigul 

TNPL vd;gjd; tphpthf;fk;? 
a. jkpo;ehL fhfpj Miy epWtdk; 
b. jkpo;ehL mr;R fhg;gfk; 
c. jkpo;ehL mr;R epWtdk; 
d. jkpo;ehL nra;jpj;jhs; mr;R kw;Wk; fhfpj epWtdk; 
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What does TNPL stand for? 
a. Tamil Nadu Paper Limited 
b. Tamil Nadu Press Legacy 
c. Tamil Nadu Print Limited 
d. Tamil Nadu Newsprint and Paper Limiter. 

136.  cr;r ePjpkd;wj;jpd; ePjpgjpf;fhd jFjpfshff; Fwpg;gpLtdtw;wpy; rhpahdijj; 
Njh;enjLf;fTk;?; 
a. mtd; / mts; ,e;jpa ehl;bd; Fbkf;fshf ,Uf;f Ntz;Lk; 
b. mtd; / mts; cah;ejpkd;wj;jpy; Fiwe;jJ Ie;J tUlk; tof;fwpQuhfP 
gzpahw;wp ,Uf;f Ntz;Lk; 
c. mtd; / mts; khtl;l ePjpkd;wj;jpy; tof;fwpQuhf gzpahw;wp ,Uf;f Ntz;Lk;. 
d. mtd; / mts; 65 taij mile;jtuhf ,Uf;f Ntz;Lk; 
Which one of the following statements is correct with regard to the 
qualification of the Supreme Court Judge? 
a. He / she must be a citizen of Indian 
b. He / she must have worked at least 5 years as advocate in High Court 
c. He / she must have worked as advocate in Munsiff Court. 
d. He /she must have attained 65 years of age. 

murpayikg;G rl;lj;jpy; ruj;J 21A vd;d cj;jputhjk; mspf;fpwJ? 
a. tho;tjw;fhd chpik 
b. mbg;gil fy;tpf;fhd chpik 
c. fy;tp epWtdq;fis mikg;gjw;fhd chpik 
d. ,e;jpahtpy; vq;Fk; nry;tjw;fhd chpik 
Article 21A of our Constitution guarantees 
a. Right to life 
b. Right to primary education 
c. Right to establish educational institutions 
d. Right to move anywhere in India 

 fPo;ffhZk; nrhw;nwhlhpy; vJ jtwhdJ my;y?;; 
a. Foe;ij njhopyhsh;fs; cUthff; fhuzk; ngw;Nwhh;fspd; fy;tp mwpT 
b. Kjyhsp Foe;ijf;fhd nkhj;j $ypiaAk; nrYj;j Ntz;Lk; 
c. Foe;ij njhopyhsp cUthf tWikNa fhuzk;. 
d. Foe;ij njhopyhsh;fs; fhzg;gLk; taJ 6 - 14 Mz;Lfs; 
Which of the following statements is not false? 
a. The main factor of child labour is literacy of parents 
b. The employer has to pay the entire wage to the child 
c. Poverty is the factor for child labour 
d. Child labour is between the age group of 6 – 14 years. 
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139.  rhh;f; (SAARC) ehLfSf;fhd Kjy; $l;lk; gq;fshNj~pYs;s lhf;fhtpy; 
eilngw;w Mz;L 
a. brk;gh; 6> 1985   b. brk;gh; 7> 1986 
c. brk;gh; 6> 1986   d. brk;gh; 7> 1985. 
The first meeting of SAARC was held at Dhaka in Bangladesh on 
a. 6th December, 1985  b. 7th December 1986 
c. 6th December, 1986  d. 7th December, 1985 

 ,e;jpa jueph;za Mizak; vg;nghUl;fSf;F jur;rhd;W toq;Ffpd;wJ? 
a. njhopy; kw;Wk; Efh;Nthh; gz;lq;fs;. 
b. Ntshz; nghUl;fs; 
c. gl;lhR kw;Wk; jPgngl;b nghUl;fs;; 
d. Fbkf;fspd; tho;fifj;juk;; 
Bureau of Indian Standards caters to 
a. Industrial and consumer goods 
b. Agricultural products 
c. Crackers and match – box production 
d. Standards of living of the citizens 

        fPo;ffz;ltw;wpy; vJ gzj;jpd; gzpia Fwpg;gjpy;iy?;; 
a. ghpkhw;wf; fUtp 
b. kjpg;gpd; msTNfhy; 
c. vjph;fhy nrYj;Jiff;fhd epiykjpg;G 
d. xd;WgLj;Jtjw;fhd fUtp. 
Which one of the following is not a function of money? 
a. Medium of exchange   b. Measure of value 
c. Standard of deferred payments d. Instrument of unity 

      cw;gj;jp fhuzpfs; 
(gl;bay; B) nghUj;Jf: 
             gl;bay; A 
             a. epyk; 
             b. ciog;G 
             c. %yjdk; 
             d. mikg;G 
FwpaPLfs;: 
        A B C 
a.   4 3 2 
b.   3 1 2 
c.   3 2 4 
d.   4 2 4 

(gl;bay; A) kw;Wk; cw;gj;jpf;fhd Cjpaj;ijAk; 

gl;bay; B 
1. ,yhgk; 
2. tl;b 
3. $yp 
4. thlif 

D
1 
4 
3 
1 
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Match the factors of production from List A with their rewards from List B: 
                     List A  List B 
               a. Land  1. Profit 
               b. Labour  2. interest 
               c. Capital  3. wages 
               d. Organization 4. rent 
      Codes: 
               A  B C D 
      a.   4 3 2 1 
      b.   3 1 2 4 
      c.   3 2 4 3 
      d.   4 2 4 1 

143.  ,tw;wpy; vJ %yjdj;jpd; tbtk; my;y? 
a. gUkg;nghUs; %yjdk;  b. gz %yjdk; 
c. ,aw;if %yjdk;  d. kdpj %yjdk;. 
Which one of the following is not a form of capital? 
a. physical capital  b. Money capital 
c. Natural capital  d. Human capital 

,jpy; jtwhd $w;iwf; $Wf. 
a. r%fKk; rKjhaKk; xd;Wf;nfhd;W njhlh;GilaJ 
b. r%fj;jpd; Nehf;fk; - nghJeyk; 
c. r%fk; gy FOf;fspd; njhFjp – xd;Wf;nfhd;W njhlh;GilaJ 
d. r%fk; vd;gJ jdpggl;l kdpjh;fsplkpUe;J xU Fwpg;gpl;l 
tho;tjw;fhdjdpg;;.Kiwia vjph;ghh;jjy;; 
Which one of the following statements is incorrect? 
a. Society and community are interdependent 
b. Society has a purpose – a common well being 
c. Society comprises of various groups, which depend on each other. 
d. Society demands certain way of living from the individuals. 

fpuhk gQ;rhaj;jpd; gzpfspy; tuhj xd;W vJ? 
a. fpuhkq;fspy; fpzW ntl;Ljy; 
b. fpuhkq;fspy; cs;s tpisahl;L ikjhdq;fis ftdpj;jy; 
c. fpuhkq;fspy; rhiyfs; mikj;jy; 
d. fpuhkqfspy; kpd;rhu cw;gj;jpiag; ngUf;Fjy;;; 
Which one of the following is not the function of the village 
Panchayat? 
a. Digging the well in the village 
b. Maintaining playgrounds in the village 
c. Laying village roads 
d. Generating electricity in the village 
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146. 
njd;dpe;jpahtpd; khd;nr];lh; vd fUjg;gLtJ 
a. Nfhak;Gj;J}h;  b. ghisaq;Nfhl;il 
c. <NuhL   d. kJiu 
The Manchester of South India is 
a. Coimbatore  b. Palayamkottai 
c. Erode   d. Madurai 

 ,e;jpahtpy; Fwpg;gpl;l ,lj;jpy; ,Uf;Fk; Neuj;ij mwptjw;F ,e;j jPhff;; 
Nuif vLj;Jf; nfhs;sg;gLfpwJ. 
a. 83˚ 20’ fpof;F  b. 20˚ 83’ fpof;F 
c. 30˚ 82’ fpof;F  d. 82˚ 30 fpof;F30’ 
To calculate the time of any place in India, the longitude that is considered, 
is 
a. 83˚ 20’ East  b. 20˚ 83’ East 
c. 30˚ 82’ East  d. 82˚ 30’ East 

      ______ MWfSf;F ,ilapy; fpof;F njhlh;r;rpkiy fpof;F flw;fiuf;F 
,izahf nry;fpd;wJ 
a. kfhejp> Nfhjhth  b. fpU~;zh> itif 
c. kfhejp> itif   d. Nfhjhthp> itif. 
The Eastern Ghats run parallel to the East Coast between the rivers 
a. Mahanadi, Godavari  b. Krishna, Vaigai 
c. Mahanadi, Vaigai  d. Godavari, Vaigai 

147. 
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149.  Nkw;F ,uh[];jhd; ghiytdkhfNt ,Uf;fpwJ. Vnddpy; 
a. njd;Nkw;F gUtf;fhw;W mq;F miltjpy;iy 
b. njd;Nkw;F gUtf;fhw;W Muty;yp Fd;WfSf;F ,izahf tPRfpd;wJ 
c. njd;Nkw;F gUtf;fhw;W Muty;yp Fd;Wfshy; jLf;fg;gLfpwJ 
d. njd;Nkw;F gUtf;fhw;W Muty;yp Fd;iw milAk;NghJ kio nghope;JtpLfpwJ. 
Western Rajasthan remains a desert because 
a. South west monsoon winds does not reach there 
b. South west monsoon winds blow parallel to Aravali hills 
c. South west monsoon winds are obstructed by Aravali hills 
d. South west monsoon winds lose moisture when it reaches Aravali hills. 

 ,tw;wpy; vJ jtwhd thf;fpak;? 
a. Fsph; fhyj;jpYk; Ntdpw; fhyj;jpYk; NfhJik gaphplg;gLfpwJ 
b. gRik Gul;rp fhuzkhf gQ;rhgpy; NfhJik mjpfk; tpisfpwJ 
c. jQ;irapy; NfhJik mjpfk; tpistpf;fg;gLfpwJ 
d. ,e;jpahtpy; NfhJik Kf;fpa czTg; gaph; MFk;. 
Which one of the following statements is not true? 
a. Wheat is cultivated both in winter and summer 
b. Wheat production has increased in Punjab due to Green    
   Revolution 
c. Wheat is largely produced in Thanjavur 
d. Wheat is an important food crop in India. 
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